Slide table cylinder——HGS Series

Compendium of HGS Series

Stainless steel rail ————— Connecting pin
Rail is made of special stainless steel, Connecting pin is made of high strength alloy steel
with high rigidity, corrosion resistance. with impact resistance and long service life.

Adjustable stroke equipment

Adjustable stroke equipment
is available, and can directly
replace the oil shock absorber.

With sensor groove

Sensors can be installed easily at
cylinder surrounding grooves.

Precision guidance

The guide rail has excellent straightness
and no turning accuracy.

Positioning pin hole

Body and slider with positioning pin hole which can improve the precision
and the consistency of repeated dismounting and positioning.

Installation and application A

1. Dirty substances in the pipe must be eliminated before cylinder is connected with pipeline to prevent the entrance of impurities into the cylinder.
2. The medium used by cylinder should be filtered to 40um or below.
3. Anti-freezing measure shall be adopted under low temperature environment to prevent moisture freezing.
4. If the cylinder is dismantled and stored for a long time, pay attention to conduct anti-rust treatment to the surface.
Anti-dust caps shall be added in air inlet and outlet ports.

aQ 349



Slide table cylinder AIl'TAL

HGS Series
Specification
Bore size(mm) 6 \ 8 10 [ 12
Acting type Double acting
Fluid Air(to be filtered by 40um filter element)

Operating pressure
Proof pressure

22~100psi(0.15~0.7MPa)
175psi(1.2MPa)

Cushion type Bumper ‘ Bumper or shock absorber
Temperature -20~70°C

Lubrication Not required

Speed range mm/s 50~500

Stroke tolerance +05

Sensor switches [Note1] DMSH(S)

Port size M3x0.5 M5x0.8

Product feature

Note) Refer to P528 for detail of sensor switch.

1.Rail is made of special stainless steel, with high rigidity,
corrosion resistance.

2.Connecting pin is made of high strength alloy steel with impact
resistance and long service life.

3.Adjustable stroke equipment is available, and can directly

Stroke

Bore size (mm) Standard stroke (mm) Max.std stroke

6 5 10 10

replace the oil shock absorber. 8 510 15 20 20
4.The guide rail has excellent straightness and no turning accuracy.

10 510 15 20 20

5.Sensors can be installed easily at cylinder surrounding grooves.
6.Body and slider with positioning pin hole which can improve the 12
precision and the consistency of repeated dismounting and positioning.

510 15 20 25 25

[Note] Consult us for non-standard stroke.

Ordering code

HGS 10 x 15 S J

— et

(DModel (2Bore size (3Stroke @Magnet (5Stroke adjustment device
6 5 10 Blank: Without magnet | Blank: Without stroke adjustment device
. ) 5 10 15 20 S: With magnet J: With stroke adjustment device
HGS: Slide table cylinder
v 10 5 10 15 20 [Note]
12 5 10 15 20 25

[Note] Stroke adjustment device of ®101®12 can be replaced by shock absorber.

Ordering code of accessories

F-HGS 10 x 15 H

099

@Model (2Bore size @Stroke (4) Accessories type
6 5 10 H: Sensor fixed seat J: Stroke adjusting screw
. ' 3 5 10 15 20 package [>~ package
HGS: Slide table cylinder
10 5 10 15 20
12 5 10 15 20 25
Matching table
Sensor
Ordering Stroke (mm)
code 5 10 15 20 25
6 F-HGS6X5H F-HGS6X10H
Bore | 8 F-HGS8X5H F-HGS8X10H F-HGS8X15H F-HGS8X20H
size | 10 F-HGS10X5H F-HGS10X10H F-HGS10X15H F-HGS10X20H
12 F-HGS12X5H F-HGS12X15H F-HGS12X20H F-HGS12X25H
Stroke adjusting screw
Ordering Stroke (mm)
code 5 10 15 20 25
6 F-HGS6X5J F-HGS6X10J
Bore | 8 F-HGS8X5J F-HGS8X10J F-HGS8X15J
size | 10 F-HGS10X5J F-HGS10X10J
12 F-HGS10X10J F-HGS10X15J F-HGS10X15J

350



o

Slide table cylinder AIl'TAL

HGS Series
Production weight table Table precision
Unit: g
Sensorfixed | Stroke adjusting screw package weight
Model Body seat - R -
BCE weight package | Single adjusting Single shock Other
weight screw absorber |accessories
HGS6X5 116.1 14.25 2.4 - 11.61
HGS10X5 152.3 19.05 2.4 - 11.61 e
HGS8X5 | 133.01 14.05 2.4 - 10.34 [Unit: mm]
HGS8X10 | 167.46 18.54 2.4 . 10.34 Model HGS6 HGSB HGS10 HGS12
X C surface to A surface 0.02
HGS8X15 | 207.07 23.35 2.4 - 10.34 Parallelism
D surface to B surface 0.02
HGS8X20 | 239.37 28.16 2.4 - 10.34 Parallelism|C surface to A surface 0.004
HGS10X5 = 194.26 15.91 6.8 16 27.36 of walking D surface to B surface 0.004
HGS10X10 | 248.98 19.12 6.8 16 26.2 Dimensional tolerance of E +0.05
HGS10X15| 303.39 24 6.8 16 21.8 Dimensional tolerance of F +0.05
HGS10X20 | 352.05 28.93 6.8 16 21.8
HGS12X5 | 291.01 21.64 6.8 16 27.36
HGS12X10 | 318.12 21.64 6.8 16 26.2 Max. allowable load
HGS12X15 | 356.79 27.63 6.8 16 21.8 [Unit: k]
HGS12X20 | 445.92 33.25 6.8 16 21.8 Model HGS6 HGS8 HGS10HGS12
HGS12X25 | 491.34 38.87 6.8 16 21.8 No stroke adjustment device | 0.3 0.3 0.8 1.2
Example: With stroke adjustment device, 0.2 0.5 0.8 1.2
HGS10X15SJ=Body weight+Sensor fixed seat package weight+Single adjusting screw With shock absorber R R 16 20

weithgX2+Other accessories weight =303.39+24+6.8X2+21.8=362.79(g)

Inner structure and material of major parts Max. allowable torque

My [0) E Mr

o
o) =0
[o

©)
L L
Max. Allowable torque (N.m)
®©a Model pjtch moment| Yaw moment | Roll moment
: | Mp My Mr
‘ NNy HGS6X5
NS Bttt 0.42 0.42 0.87
$ V [ HGS10X5
@ < aE=tihs HGS8X5
' —1 0.42 0.42 0.87
e a4 @9 @) ®) HGS8X10
HGS8X15
—_— 1.7 1.7 1.8
NO. Item Material |NO. Item Material HGS8X20
1 Body Stainless steel| 11 |Hexagon socket head screws ~ Alloy steel HGS10X5 12 14 23
2 Slide table Stainless steel| 12 Magnet holder Plastic HGS10X10 ) ’ '
3 Adjustable screw Stainless steel 13 Magnet Rare earths HGS10X15
4 Bumper NBR 14 Screw Alloy steel HGS10X20 2.8 3.1 3.3
5 Hex nut Stainless steel| 15 Pin Stainless steel HGS12X5
6 | Middle stopping block | Cutting steel | 16 Piston Stainless steel m 24 29 47
7 |Hexagon sockethead screws| Alloy steel |17 Piston packing NBR — ’ ’ ’
8 End stopping block Aluminum alloy | 18 End cover TPU HGS12X15
9 |Hexagon socket head screws| Alloy steel |19 Oring NBR HGS12X20 6.5 77 73
10 Sensor fixed rail ~ Aluminum alloy 20 Cclip Spring steel HGS12X25

V4 351



AIl'TAL

Slide table cylinder

HGS Series

Table deflection

o3
£ T T T T T T T T T T T —oF T T T =4
- P T N N NN I = el 1 1 B ] = E \\L\\r\\,\\%wM _]o m\\iwwwww,\i?.?_ - ©
& © ® sl T Sl xS R S L a
o
£ nwn_u | | | | | Jn_v | | | % %, = | | | Wﬂv e | |
4 [ N | o I o L o [
m < . ) RO G nre \,\J\\\,\\S% o n Lo_l_ =
£ [ o H Tl o % I My 2 == =i iy
= (o) [¢) I N A z [ | z Lo z loroex z
° L RN o I o 1) o XX
Fei— -t A& o -ttt o i Bl nb Bl 5 Ny 15 o o Qo o
2 o) o) [ ® Ll glo | @ XX I I 0 ®©
® | | | | o | | | o= | o | | e o I Jlo o
3 T | | | | ) o - | | N o - | | ' oo = — | b ) —
3 TR T EEN S SREREEECICRN\ R TR
m _ | | | | | | | RCYGH | | [ =~ | | | | |
g L] | |TT | N L
o - n I ® N = ITe) o N = ) Fo R
2 g338s 3o ° S S8g9 o ° ol 838832 ©° nf 8388 9 °
® S o o o o o 7S o o o o © P o o o o © Hl o o oS o ©
° 10) (ww) uonosyeq 10) (ww) uonosjyeqg o (ww) uonosyyag 10) (ww) uonosyaqg
o w
2 T T T T
) L
©
[
T T T T T T T T T T «)ﬂ T e m
m [ m A S pece M\\J\\J\\Wﬁm i € S
g < =3 IR T T T N I S| S| 11 %X S «
D 4= ——q——F————1 © © S o o =
@ l | | I I | <~ W | | ' e i e e 1) - o
£ ) [ N _ [ I I [ I i)
2 B O U 1= R 3 ~l 1 ge - -
4 e A Fp o
m [ R N R R4 [ z I E-\-18 =z o Z
| | | | | | | I o8 | | o
© | | | | | | | s} kel | | = el
> e i e S (R [~ T oo X I e A 12 © TR
[} [ N o | _1__1__I_ © o I I 3 o o
- | | | | ) — | | - — | | = | — o —
5 T e e s e = e TR\ °
~ Tz I\\| | [T "~ N
o [ N [ I I %% I
c | | | | | | | | | | |
o I I I — I I mo n,b nmv A,.. n,z
[T2)
5 333899 ° S 33 ol 8 8 3 2 o° 2 °©
2w S| o o o o © b o o o |l 8 o o © b
[T} 10} (ww) uonoajyeq 15} (wuw) uoly o (wuw) uonosjjeg 15}
° T T T T
2
)
©
T
€ 2 z
T T T T T T T T 7 T T T T T T T ol T (=]
€ ElL 1 1 e EL_ 1 1 ®2a |o ElL 1l 1 x 1 o m e i e > S W
s ° € 1 T | T T < € 1 T I <! © S T T (=) T © S | | | I -~
m 2 [ S [ ! S [ I 1) [ NN
[ B [ | - [ ) I - [ i \I
o L O S S A =) [ SO SO 82 L W =~ nl o1 L@\ o i Lo QA \
[ R B - T4 - [ | © =z ) | © z 4 Il 00 o z
.m < o I A [ I o 1 T 1 \\\,\\,\w\ﬁHH -1e
o\ [ N R [ Y [
= t-- ——F—4——+-\--1Q & N . XS\ -1 B IoIxX%x N ®
s Q o\ o [ SvM I o XX I\ o I TN I o
° o [ | Y - 1 oo\ | RS AN o -
o [} | | | | ! o I B -1 I\ ]o | | _xt~— | | o 1 —TOW-—1-X{ o
@ it Mt iy At i iy R [ | Y r—1 —T- 00T B E 100 1\
1 | | | | | | | O | I OO ) | T |
= ° [ N N B [ B s I [ - i T
| | | | | | | | | | | | | | | | | | |
< _ , - n < © N = = N - © N =
2 & 333 <o ° 3 335 o ° of 833823 ©° | 38359 °
° S| © o o o © 5 ©c o o o © »l o S o o o b o o o o ©
M o (ww) uonoseg 10) (ww) uonosjyeq 10} (ww) uonosjyaQ 10} (ww) uonosyaQ
r T T T T
° [
k) L
o
©
[

352




Slide table cylinder

AIl'TALC

HGS Series

Installation and application

1. Cylinder can to be mounted from 4 directions

2. When mounting an compact slide cylinder, screws of appropriate length should be used and tightened properly within the maximum tightening torque.
If screws are tightened beyond designed limits, malfunction may occur. If they are tightened insufficiently, it may result in sliding of falling off from its position.

OEO o’

9]
S

Model Bolt Max. tightening | Max. screw-in
used torque (Nm) depth(mm)
HGS6 | M3x0.5 1.1 4.5
HGS8 | M3x0.5 1.1 5
HGS10 M3x0.5 1.1 5
HGS12 M4x0.7 2.5 4.5
=]
@)
Model Bolt Max. tightening | Max. screw—-in
used torque (Nm) depth(mm)
HGS6 | M3x0.5 1.1 3
HGS8 | M3x0.5 1.1 3
HGS10| M3x0.5 1.1 3
HGS12 M3x0.5 1.1 4

About shock absorber

1. Shock absorbers are expendable. Promptly replace them when energy absorbing capacity decreases.

2. Never turn or adjust the screws on bottom of the shock absorber body. The screws are not for adjusting.
Otherwise would cause oil leakage.

3. Follow the table for tightening torque of shock absorber to lock nuts.

Shock absorber lock nut

The screws are not adjustable

Shock absorber

otherwise would cause oil leakage.

353

Model Bolt Max. tightening | Max. screw-in
used torque (Nm) depth(mm)
HGS6 | M4x0.7 2.5 4.5
HGS8 | M4x0.7 2.5 5
HGS10 M4x0.7 2.5 5
HGS12| M5x0.8 5.1 4.5
[y
C®)
Model Bolt Max. tightening | Max. screw—-in
used torque (Nm) depth(mm)

HGS6 | M2x0.4 0.26 4
HGS8 | M2x0.4 0.26 4
HGS10| M3x0.5 1.1 3
HGS12| M3x0.5 1.1 4

Model Shock absorber Tightening torque

HGS6
s Without shock absorber

HGS8

HGS10 ACA0806-1N 1.67(N.m)

HGS12 ACA0806-1N 1.67(N.m)




o

Slide table cylinder Ail'TAL

HGS Series
Dimensions(HGS®6)
HGS6X5 w008 5
®3 1501 dp:3 2-M3X0.5 3
3 o\ _15 © Inlet port 3183 dp:319.5:0.05
[sp) N "
I | v I
9 2.3 23 T4 2 | O
- o A -~
N ‘ D | @ N © i
b © © of < N| w| 0 o o
s 5 b —y ~! N| & < 9 et - @,
© <« &) —
v % < < 1 ~
< ° ™ |‘ s e ie]
= ; .g- i < < -
© X o| 3% 7] S| 2 =
S = 2l dp3| 4 2-06 Countersinkdp:3.5 S| 2 >
X Q& 2 M4X0.7Thru.hole & ==
o T S ™
= < )
« s
1.5£0.1 20+0.02 1
@ OG5 © g
PHOT | !5
~
% =
P. Qare Installation datum |23+0.05| ™
HGS6X5S HGS6X5J Adjustable range: 5mm
1 H8
© 6 o _a iH3
S 44 0.5 10 3 o
| ®l® i e
fo) "’-i (o)
| pd 0.6 %] - 0 © h |
L2 ©
10 o 31 5 13 s 4.5
2-M3X0.5
Inlet port 15,18 9
HGS6X10 °
®31:381dp:3 2-M3X0.5 3
3 15 Inlet port ®31381dp:319.5+£0.05
< ) o el
[ee] I~ I 0|
Ay 2.3 _ 2.3 —| N
o 5 | & i ©
hd o ol 4| o v 0 L d
< 5 S‘) \J7 —yg— N < <+ o © |
N < OE Nl © - L; LJ
[y ~ < O F
° ) o o <
B > S | J) i ° 4
s < E @ ; @ ) |®
2 g S| 4+004 x o
S = 3| Sweo 2-06 Countersinkdp:3.5 S| T } ©
< o~ dp:3 6 - 2 o s
0 = M4X0.7Thru.hole N 33
o < © ©
= S
N <
1.5+0.1 20+0.02 i)
0.1 e
[QH{=E w| 8 3
N
PO K
~
P =
P. Qare Installation datum |23+0.05| ™
HGS6X10S HGS6X10J Adjustablerange: 5mm of each sides.
Max56
6 1 H8
© 10 6 H3
o 59 0.5 ©
! 3 3 o
I~ Ol© | |
© ”’-i fan
L — bl [e) © 0 o B = l
10| © 2-M3X0.5 46 5 2 0 45
Inlet port o
34 11 9

QO 354



Slide table cylinder

AIl'TALC

HGS Series
Dimensions(HGS8)
HGS8X5 ®3 1504 dp:3 5.5
2-M5X0.8 3.5
3.5 - 15 - Inlet port 16 3.5+0.05
I
]
o 42.6 ! 26 Yol 9 o 4 9
“' | 5| o R S ol® & ®3 1887 dp:3
d o al o v > o
o © o 3 ‘G’F —y N ® < Sy 9 - %d
“He \T\ u a
% -~ < °
S = s O1s 35
5 s 2 o = | E = e
e} o S h ol T
S 8 0| 3158 ® X 8
X s o| dp:3 2-06 Countersinkdp:3.5 S|
= o ST e M4X0.7Thru.hole ue
o~ EI ™
- =
N
1.5+0.1 20+£0.02
[aH o 8
(4D S
(e} R
P. Qare Installation datum |23.0.05
HGS8X5S HGS8X5J Adjustable range: 5mm
6 H8
w0
o 45 0.5 10 3 v H3
3 o
© +
(@) it rah
| ? ©00O0 ° - D © ) |
0] @ 2-M3X0.5 mf
o InIetport 31 5.5 20.5 ‘2.5 S 4.5
8.5 9
5.5
HGS8X10
®3:837dp:3 2-M5X0.8 3.5
3. 15 Inlet port 16 3.5+0.05
N N
Q I =~ Mol o
N i I N
2.6 2.6 [t} & €
o
o il b | @ o o 4 31381 dp:3
4 JIFlo SR o
] < * lp| g = {“}—e{
' B ] ! z /ﬁ s
< ] ® o ©° 35 $
a < o b ) i 3 e
© o © b= o D ™
0 P © I I »n X« A\
o .
% = 3| 3y 4-06 Countersink dp:3.5  =| 8 u“’)
= N =| dp:3 M4X0.7Thru.hole e
J & 16 =
=
1.5+0.1 20+0.02 N
Q= | 3
[P] n oq# S
()} (2]
P. Qare Installation datum |23.0 05
HGS8X10S HGS8X10J Adjustablerange: 5mm of each sides.
Max56
6
10 6 H8
w
pid 59 05 , : o "
: ‘ Ot
] @
[ i (D)
' o D 6 2y |
Jﬂ 3 2msxos 49 55 34 mll2 ﬁ 45
Inlet port 9

355




o

Slide table cylinder Ail'TAL

HGS Series
HGS8X15 2.9
®3:837dp:3 2-M5X0.8 3.5
3.5 15 Inlet port 16 3.5+0.05
0
0 © B~ T olw
N N
~ 2.6 T T ®a o1& 1 O
‘ ‘ 2.6 o 4
© © Pl S ° ©| ® ®3 9% dp-
° fh o) o o e ° © 31861 dp:3
™ ~ ™ < <
© 2| lp| o @ o = &
> ~ s
© 5 'g- ) b o 9 35
o [P & 4 o 5 S
. & 1] o s =
< < w| L ; q} ¢'
al Qq o L ) 2 < ~
o = x ] @
0 & g s T
S Q
> 4 31001 4-®6 Countersink dp:3.5 & o 3
g dp:3 M4X0.7Thru.hole o
: 16 <
< (a2}
1.5+0.1 20+0.02 =
<
QH{== © 3
[P] /) oq# 9
(o)} (o2}
P. Qare Installation datum | 23,005
HGS8X15S HGS8X15J Adjustable range: 5mm of each sides.
Max61
6 1
10 6 H8
0 1
s 74 03 3 3 0 H3
! pud N R
) o} N
LRy ?_© ©__° | 00 OB Sy T
w0
iﬂ & 2-M3x0.5 64 55 1a 11|18 117 uoaf 45
Inlet port 9
HGS8X20 =
®3 1831 dp:3 2-M5X0.8 3.5
> 3.5+0.05
3.5 \ 15 Inlet port 16 =
0
0 2 o g 0|
& I N B
2.6 \3 2.6
[} | - o Il o
el i [{e]
° Ha ot <2 8¢ 2 4 ©3:381dp:3
© 3 -
2 N H . g 8 &
5 5
©
= < @ o < ° «©|
ﬁ o Ql I o /ﬁ
5 5 3 2
s = o| 4 @ = $|
al ! < tH |
© N 5] N« o~
[ts) = . o Q@
o < 4-96 Countersink dp:3.5 3 5
el ge008 M4X0.7Thru.hole g e
= +0.01 S
: dp:3 )
~ P16 =
1.5+0.1 20+0.02 =
QH{~= | 3
[P} /ah oo_# 9
[e)) [}
P. Qare Installation datum | 23,005
HGS8X20S HGS8X20J Adjustablerange: 5mm of each sides.
Max66
6
© 1Q 6 _H8
o 89 0.5 3| 3 ) H3
[ pud N R
©)(0] .
N " YD
[ id © © o1 | O® O® Sy |
(e}
i‘ﬂ S' 2-M3X0.5 79 55 14| 16 | _14_| 11| 1 ﬁ 45
Inlet port 9

aQ 356



Slide table cylinder Ail'TAL
HGS Series

Dimensions(HGS10)
HGS10X5 3 338t dp:3 5.5
2-M5X0.8 3.5 354005
32 g ® Inlet port 21 2:520.
<
° 56 i 3.6 3] ~ 9
N . | 4 +0.04 .
? %73 ‘_ 5l ®3105:01dp:3
© (it - N o © | I 8 © e%d
- s | Vg — & —y < ™ - -
ANCHL By 5
0 Q] @ <+ ‘;’_ 35
= ° S S Yo $%
o Z o - w| 2 3 >l o
o x S| 4+0.04 i S| °
ﬁ g (>v<) 3+001 & e
= | Py 2-06 Countersink dp:3.5  =| X
& N ~| @
~ M4X0.7Thru.hole =
Q
0.5+0.1 27+0.02
[Q]- ez ol 8
o 15
E} 7Y ol #
AN &
P. Qare Installation datum | 28+0.05
HGS10X5S HGS10X5J Adjustable range: 5mm
9
© H11
g 47 0.5 4 Ot H4
(AITAR | | ATTAS
[y H ra
(R S ® )
| P OO ¢ | |
[le]
10| S 33 |55 1.5 g 6
2-M3X0.5 10.5] 12
Inlet port
HGS10X10 55
®3139dp:3 3.5
_.35 = 20 2-M5X0.8 21 _ 35x0.05
Inlet port
9 N
Ay I~ g1 vl o
S | 1 38 6l & s | ¢
ol oo : ol © 4 ©31481dp:3
© S o 13- —
] & o — 28 LT
J o ® ~ ‘g_ s
o s Yo o g =
° it © 4L o P
[Ie]
S % % l @ 3¢
) = S(3:881 4-06 Countersinkdp:3.5 = © ©
2 & ICEEIPY M4X0.7Thru.hole w2
o =
a2
=
0.5+0.1 _27+0.02 o
(ATTAR w
P ) )
P ol
P. Qare Installation datum | 2810.05
HGS10X10S HGS10X10J Adjustable range: 5mm of each sides.
Max. 74
9 9
i 59 05 ) o AU
© 4 14 |4 St H4
| AITTAR | —
2~ QS e
(4 ' H ~
| ® ©® O ° . ° C)
- © ® I |
10| 2 49 5.5 7 o g
2-M3X0.5 50 5 o >

Inlet port

aQ 357



o

Slide table cylinder

AIl'TALC

HGS Series
HGS10X15 55
®3 159t dp:3 3.5
. 20 o 2:-M5X0.8 21 3.5+0.05
- © Inlet por
]
S i ‘ I BE
1o 3.6 © D- <
©| | ' |© © ©
A o o © < o |l © ®3 1881 dp:3
~ O SR ©| s —
7 ol o SIS “R
@ 6 T ) a
g w? % o :
© [to) 0 ©| peo=d
g © S v
_g— = (2] = [te)
3 o || e
< 31881 4-96 Countersink dp:3.5 S
g dp:3| o4 M4X0.7Thru.hole 2
< 2
0.5+0.1__27£0.02 :
<
)
| AP TAR
I A EE
[P] (/MR g A
N
P. Qare Installation datum 28+0.05
HGS10X15S HGS10X15J Adjustablerange. 5mm of each sides.
Max79
9
H11
74 9.5 4 14 ©
4 oy H4
M@fﬁ 0)©) | | Ezs
) ? © ©_° 4 Y
N Nl 0 @@ 0)©O ~, | |
10 64 5.5
2-M3X0.5, 20 15 10 2 6
Inlet port 12
5.5
HGS10X20 03198 4.3 e
+0! p: B .
.35 ST 20 2-M5X0.8 21 3.5+0.05
Inlet port
~
s 1w
9 \ | - 69 €
o § ) 3.6
| - o g = 4
. +0.04 .
o @ o . ol 3lg o - ®3 138 dp:3
o |
& © @ ® QS « d
a i 3 o J
51 ° - J
© g “g_ g = © © ;;
E 5 8 g ’
w0
0 = s Yol |9 1 = o Iijl
=Y ! < n o~ g
° N © © [t}
2 L | 5
é © 3008 4-06 Countersink dp:3.5 2
> dp:3 21 M4X0.7Thru.hole %
< R =
0.5+0.1__27+0.02 <
CAITTAL, 9
Cs A E 2
[P] (/M g A
N
P. Qare Installation datum | 28+0.05
HGS10X20S HGS10X20J Adjustable range: 5mm of each sides.
Max84
89 0.5 9 H11
4 14 4 g H4
[m?ﬁ D0 EGzs
I ) o 5 ® T %ﬁ
O) 0 DO e | |
10
79 5.5
2-M3X0.5/ 20 20 1 paN L

Inlet port

358



o

Slide table cylinder Ail'TAL

HGS Series
Dimensions(HGS12)
5.5
HGS12X5 ®3:381dp:3
[ \_ 25 © |2-|Mt5XO.t8 24 45+0.05
) nlet por
™) 8 ©
o = =||\&J o
I 3.6 : 3.8 N 4
ol To SREC ° ©3 138 dp:3
<t m o o o0
] E 31119 R § ¢ ° g 3 e @O ¢
| ol — < g
B Qf b
Q < oo
2 B : = £
g M o
o < o o Xl w b ©
<] ir} o R3 L S| g
& = %| i @ s 4.5
= ~ S| dp:3 2-M4X0.7Thru.hole NS —
I | 24 x
N S
|
0.5:0.1__32+0.02 o
Q ATTAR © g
Nyo
PH (@cag K
(3}
P. Qare Installation datum | _33:0.05 |2
HGS12X5S HGS12X5J Adjustable range: 5mm
14 9
6.5 H11
©
S 59 0.5 - <l H4
— : Q[® = 17 gRos
7 ° = o 7N
| ﬁa @ @ () O O A | u_“
10| @ el 145 0 6
J S 45 6 50 N 12
2-M5X0.8 5
Inlet port -
HGS12X10 ®3 1381 dp:3 5.5
5.5 25 - 2-M5X0.8 24 4.5+0.05
- Inlet p
= i = } ©
(=]
N 3.6 . L— 3.6 S
o 17 4
ol o] ! T | o [0 034§ dp:3
© - ©) o| ©| o] I —
o Q1 frol N N 9 ol Q _ ,¢
5 N ool N 5
- [ok
< he)
Ed a < al 35
© = B < E — P
o] L ‘ ?7
2 > s o g ) «
5 5 2 i S 2 fol
g o »n
£ 3 3|38 \\R3 28| a5
g N =\dp:3 24 2-M4X0.7Thru.hole N g ——
g <
~ < ch)
0.5+0.1 32+0.02 &
Q ATTAR © g
Nyo
P (@) &
N
P. Qare Installation datum 33+0.05 g
HGS12X10S HGS12X10J Adjustable range: 5mm of each sides.
Max.74
9 9
H11
© 0.5
59 4 14 4—i<74 g H4
mf\ - = 0O q = j TATAG
i = E ™ 4
PO 0O © @& @ | - @)
v
i‘ﬂ S ‘ 45 6 7 0 6
2-M5X0.8 50 ~ T,
Inlet port 5

aQ 359



o

Slide table cylinder Ail'TAL

HGS Series
HGS12X15 55
5. ®3:081dp:3 25 © 2-M5X0.8 24 4.5+0.05
i © Inlet por
| ©|
9 © 9
o =] A | ‘ o
I 3.6 N o el
©| B é &7 | 4
7°||| O A\ o| | o @3 4ot dp: 1331dp:3
@ © A\ N N
& |I| \ N ‘ 7 q R N |
) I o= N~ ™
3 Tl < 5 s
Olll=| S < o [=]|® © 35
;’3 g = i © e e
X 0 *E i > | ™ @ @
0 g o & §|
5 | P2 LIl ~lo ©
s} N = o
g ol 3881 2-08 Countersink dp:4.5 E
2 dp:3 24 M5X0.8Thru.hole e
v a2
= =
<
0.5+01 32+0.02
Q AITAR 2 g
Nyo
P, Qare Installation datum 33+0.05 g
HGS12X15S ' HGS12X15J Adjustable range: 5mm of each sides.
i Max.79
: 9 9 H11
© | ==
= 75 05 4 14 e @ H4
AIrvAE | i 0© | | ATvAE \C
[T} 1 [ ]
f\ © i ™ f\
o © © & | O ©Q I tH
10| @ 64 6 ! 20 | 15 | 20 losl1s ot |6
<} | N
2-M5X0.8Inlet port |
HGS12X20
25 55
.55 ®31§81dp:3 2 2-M5X0.8 24 4.5+0.05
- Inletp
.|= A ©
401, PN ’ ¢ o | 9
©| I F 2 © 4
ol © lologo s o 1@ ®3188 dp:3
_ T Wi
& © < PR - J &
g o B = \
r 0 $ ©| 35
© X o |[e== %
% = é | ol
~
o 2 HO S = ‘ o e/
0 2 i |
Q X — NHn
= %) 1%}
) EI t il sl ©
> . o
g © g*gg*‘ 2-®8 Countersink dp:4.5 Q
s P 24 M5X0.8Thru.hole o
< =
I
<

0.5+0.1 _32+0.02

o= XE ol 8

Nyo
P. Qare Installation datum 33+0.05 “
+0. o

aQ 360



Slide table cylinder

AIl'TALC

HGS Series
HGS12X20S | HGS12X20J Adjustable range: 5mm of each sides.
| Max.84
1 9 - H11
© | 4 ©
< 90 0.5 ‘4 14 ol Ha
ATvAE i D0 ARG |
[Te} ! 1
f\ 0, 3 - f\ |
| @ © © © | 00 P® - ! thy
10| @ 79 6 | 20 \ 20 \ 20 35 w© 6
e ! 12
2-M5X0.8Inlet port |
HGS12X25
5
.55 ®3:1884dp:3 = 25 2 2-M5X0.8 24 4.5+0.05
© Inlet por
© O
© = A | ‘ = ©
2 e 2 o | ©
3.6 3.6
| : )
<ol o 1 er o] = s
& © @w oIS ST © 25 (lﬂ ©3 1481 dp:3
\ - —
3 \ o . 98 do
g lo|_[[ 1o 3 J
Lo © <« i 0 \
© i —] Q % il Q = ©
/9 > o >
3 S 9 = i
0 ~ 3 N % I « !
2 2 ﬂf@ @ @ o il © | O
© o ©
% " o @
= 31881 2-®8 Countersink dp:4.5 o3
~ dp:3 | 24 M5X0.8Thru.hole =
<
05+0.1 _ 32+0.02
7 N1
P K
N
P. Qare Installation datum 33+£0.05 |
+0. i
HGS12X25S ' HGS12X25J
i Adjustable range: 5mm of each sides.
i Max.89
© i 9 o Hi
; 105 05 | 4 14 #4+ ; H4
° : ‘ - Oy
ATV ! D)0 ATVAE YO |
(AR o o (@D e
| @ © © o1 Q) ©C N1 )
0 0 1 L ‘ © 6
S 94 6 ‘ 20 25 20 _| 12 (8.5 ~
| 12

2-M5X0.8Inlet port

361




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13

